/u’AB

14

16

18

20

22

24

26

0.4

7\\\\\\‘ I T TTTTIT I \HHH‘ I \HHH‘ ] [ TTTTT [T TTTTIT [T TTTTIT [T TTTTIT
~ —— 1 —— N
| emmng, — N — — 2
- VCC1537 .
B :: 9 :
- . 15
— - — 1
- T — 05
B 177 HIHI lHHH‘ lHHH‘ lHHH‘ 17
[T 1 ]
r . T — 60
+ 0
% %HHH‘ 1;5111111‘ | lHHHl | lHHHl | lHHHl lz
‘ T 7IHHW T IIHHW T IIHHW T IIHHW I:
— 0.08
e =0
—+ — —0.08
HHH‘ \HH‘ \HH‘ \HH‘ ::HHH‘ (RN \HH‘ \HH‘ :
*HHH‘ I \HHH‘ I \HHH‘ I \HHH‘ \::HHH‘ I \HHH‘ I \HHH‘ I \HHH‘ \:
—+ — 0.08
—+ 0
—t — ~0.08
:HHH‘ | \HHH‘ | \HHH‘ | \HHH‘ \::HHH‘ | \HHH‘ | \HHH‘ | \HHH‘ \A

0.1

1
r

geo (

10

100

arcsec)

0.1

1
r

geo <

10

arcsec)

100

V(2 - 5)



